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B.A. (Part - III)
Term End Examination, 2018
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Paper - 11
Statistical Methods
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Note : Answer all questions. All questions carry equal
marks.
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Mention the various methods of collecting
statistical data ?
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What is meant by Report-writing ?
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Calculate Arithmetic Mean from the following

data :

Less than| 10 | 20

30

40

50 | 60

70 | 80

Frequency| 15 | 30
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Calculate Mode from the following series :

Size | 0-10{10-20

20-30

30-40

40-50(50-60

60-70

Frequency| 5 7
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Find standard deviation and its coefficient

from the following data :

Age
(in ycars)[ 0-10 [10-20|20-30|30-40{40-50{50-60{60-7070-80
No. of
Persons | 15 IS 123 |22 2§ 10 5 10
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Calculate Bowley’s coefficient of Skewne

from the following data :

25-30

Class [0-5[5-10 10-15[15-20 20-25

Frequency | 5 | 7 n
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Explain the meaning and importance of
correlation. -
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woq fAofe® - 1,6, 5,10, 3,2, 4,9, 7, 8
fgdta ot - 3,5,8,4,7,10,2, 1, 6, 9
T i - 6,4,9,8,1, 2, 3, 10, 5, 7
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Ten competitors in a beauty contest are ranked
by three Judges in the following order :

First Judge-1,6,5,10,3,2,4,9,7,8
Second Judge -3,5,8,4,7,10,2,1,6,9
Third Judge-6,4,9,8, 1, 2,3,10,5,7

Use the Spearman’s Ranking correlation
coefficient to discuss which pair of judges
have the nearest approach to common tastes
in beauty ?
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Construct Consumer Price Index for current (b)’ Time-Series Analysis
year from the following B8 (©) Main  points  consideration  whi
Item of it constructing Index Number while
Expenses | Weight Base Year | Current i (d) Semi-Average Methods

Wheat 16 8 10

Rice | 22 4 14 )@

Gram 18 5 16

Pulses 20 6 27

Sugar 24 8
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Write short notes

on any two of the
following :

(a) Reversal Test
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